A2 AMDER SA XD
S ol Mooy & =X JFXIML
ol IME HHE N (ol &)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
Xl==1t 54,667,063 67,342,799 A12,675,736
= 12,454,000
S 42,213,063
SHETHoHOIY & ==X+ JFXIMI LD 54,635,200 67,310,936 A12,675,736
= 12,454,000
= 42,181,200
otdetd MAA i 33,987,100 39,127,636 A5,140,536
olME & O THE =& 766,900 766,900
201 2gt=2E | 13,500 13,500
01 AFR2t2IH] 13,500 13,500
>z ?Ee 238 13,500
202 O 3,400 3,400
01 2oL 3,400 3,400
OSHEMHH LAY X B 3,400
308 NHXIEFMISOIE 750,000 750,000
02 =123 750,000 750,000
OStEANEZ F+uRS 750,000
NotE (A ) (HEAY) 7,000,000 5,996,000 1,004,000
401 Al HIZ 200 7,000,000 5,996,000 1,004,000
01 Al&H] 6,190,000 5,390,000 800,000
oSS XLstdFHI (Mg 6,190,000
02 Zcld 800,000 600,000 200,000
OAgd XYSHEZHI(HE) 800,000
03 A& 2 THYI 10,000 6,000 4,000
ONEd XLstEFHI(HE) 10,000
XeotEEHI(F0IE) (HEAY) 3,406,000 4,800,000 1,394,000
401 AIZHIX 20HH| 3,406,000 4,800,000 1,394,000
01 Al2H] 2,800,000 4,394,000 1,594,000
OS0Id XLt ZHI(HE) 2,800,000
02 Zeld] 600,000 400,000 200,000
OS0I XLt EH|I(HE) 600,000
03 Al 20HHI 6,000 6,000 0
SOI® NLotEEH|(ME) 6,000
Xlgtotd Z::‘.'Hl( JE) (HEALY) 2,949,000 2,949,000
401 AlZHIZ SO0 2,949,000 2,949,000
01 AlZH] 2,500,000 2,500,000
Ogd XYstHEH|(HE) 2,500,000
02 Zc/d 444,000 0 444,000
OE& XYotdZH|(HE) 444,000
03 A& 2CHYI 5,000 0 5,000
OE& XYotdZH|(HE) 5,000
NS FH (EH) (HEA) 2,627,000 0 2,627,000
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A2 AMDER SN LD
S oMol & =X JFXIA
crel BlEEA HHE A (i = 9l)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
401 AlZHIZ 200 2,627,000 2,627,000
01 Al&H] 2,151,000 2,151,000
Oddd XYSHEFHI(HE) 2,151,000
02 2eld 470,000 0 470,000
OaEd XLt (HE) 470,000
03 A& CHYI 6,000 0 6,000
O&gd XILGHEZH|(HE) 6,000
XLSHEFH(SS DEXIF)(HEAY) 590,000 706,000 116,000
401 Al HIZ 200l 590,000 706,000 116,000
01 Al&H] 584,000 700,000 116,000
S& 048X+ NLetEEH(HE) 584,000
03 A& 20HHI 6,000 6,000 0
S® 048X+ NLetEEH(DE) 6,000
XL FEH(D2A AelX7) (HEAY) 227,000 0 227,000
401 AIZHIX S OHH| 227,000 227,000
01 Al2H] 221,000 221,000
O &e|XIF KL ALI(ME) 221,000
03 Al&SCHYI 6,000 0 6,000
OLNZA &K+ XL FHI(HE) 6,000
XLt EHI(SH AT ) (HEAD) 406,000 0 406,000
401 AIZHIYL SO 406,000 406,000
1 Al2HI 400,000 400,000
OQI=d QMR XILotdAH(HE) 400,000
03 A2 =2CHHI 6,000 0 6,000
OQI=d QMR XatdAHI(HE) 6,000
NLSGHEEH(HE HEXF)(HEALD) 706,000 0 706,000
401 Al HIZL SO0 706,000 0 706,000
01 Al&H] 700,000 0 700,000
ONHE HEXIT KLSHEEHI (X E) 700,000
03 A& 2CHHI 6,000 0 6,000
OO0&E HEXI7 XLctEFHI (&S 6,000
X 25H & Bt (SHITHOH Ol 2 ) (R AL 15,309,200 20,084,736 24,775,536
403 MR EHMSKH=0lH 15,309,200 20,084,736 N4,775,536
01 AR A= 2L 15,309,200 20,084,736 AN\4,775,536
OFEH XLstEFHI(HE) 2,675,800
OdlEH - JaE XL ZHI(HE) 533,400
O¢=2d XYstEFHI(HE 1,000,000
OsZd SEXF NLot#FHl(ME) 1,200,000
OuA XILSIEFHI(HE) 1,200,000
OMEHE - =UH XL FHI(HE) 1,500,000
Ozl AT XLotEEBI(HE) 1,300,000




A= AMNER FAL Rl
A oo & =X JXIMHL2
crel BlEEA HHE A (ol &)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
OFSXIA XLUstEAH(ME) 1,000,000
OsYd XILotMA|(XE) 1,900,000
O0EA Xlgotd &Y (X&) 1,000,000
O0rS® XIot&&H|(XEH) 1,000,000
Odsd SSKIF Kot HH|(MEt) 1,000,000
=NE OIXIH D & 2e|2st 20,648,100 28,183,300 A7,535,200
= 12,454,000
= 8,194,100
otezte| Akt 4,394,100 3,635,700 758,400
202 04| 16,700 10,200 6,500
01 =WO4HI 16,700 10,200 6,500
OHAEFX &2l "M ZA 15,000
OotdEEZd I TA 1,700
401 A& HIL SR CHY| 750,400 0 750,400
01 Al&Hl 750,400 0 750,400
OXgotd HXIEH L OHHE HY| 750,400
403 XX SHHMSK=01H 3,627,000 3,348,500 278,500
01 XtXIEHHI A= 2 = 3,627,000 3,348,500 278,500
OXIZsta &l 1,725,000
OTHoHCHE| XIZotd St=EHIALS 1,465,000
OUuA Xlgotd &l 237,000
Odd Xlgotd &l 200,000
2ot SN EL(=21) 4,761,000 11,091,000 6,330,000
= 4,761,000
403 XX HMSAH=01 A 4,761,000 11,091,000 26,330,000
= 4,761,000
01 tXISHHAIZ2E X 4,761,000 11,091,000 26,330,000
O=Jlotd | E= 4,761,000
= 4,761,000
AQIE HEs2LAAE(=1) 1,855,000 0 1,855,000
= 1,855,000
403 XHXIHMS =01 1,855,000 0 1,855,000
= 1,855,000
01 MXIHAA=2E X 1,855,000 0 1,855,000
OALIE H=2celAAE 1,855,000
= 1,855,000
AFHHAHL(2D) 5,838,000 9,751,000 23,913,000
= 5,838,000
403 XEXIEHIS X201 H 5,838,000 9,751,000 3,913,000
= 5,838,000
01 MIXHA =22 X 5,838,000 9,751,000 3,913,000
OY=d EXEE Y 2HE 5,838,000
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A2 AMDER SA XD
S ol Mooy & =X JXIML
Sl AN DRI L 22l (ol &)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
| = 5,838,000
Agotd FA22lA 3,800,000 3,705,600 94,400
201 Ler=a| 300,000 205,600 94,400
01 AtR2telH] 300,000 205,600 94,400
OHEEX DAl ¥ 042 2tel 300,000
401 AlZHIZL 200 3,500,000 3,500,000
01 Al&H] 3,500,000 3,500,000
OGHHMHYUEX] B4 2,000,000
OXlgotd Jl=H & 1,500,000
HH2AHHI(XI==1) 31,863 31,863 0
J1I=2dHl 31,863 31,863 0
FANE2E Jl=3Hl 31,863 31,863 0
201 &gt=2E| 22,449 22,449 0
01 At22t2|H] 22,449 22,449 0
SM2E ARl 22,449
202 O 5,814 5,814 0
01 204 5,814 5,814 0
SA2E U 5,814
203 HR=&| 3,600 3,600
MU FAESER=A 3,600 3,600
©202! Olat 300,000 * 122 3,600
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